JIB BALL BEARING UNITS

=LIEE =H0E

UC2

(AE7YY, 2(E)5158) B
G |
S2 . |
_ 2-120° G
SLatA]
r ———
S Si ‘ i
o b d I — |
o] | I |lo |
| L34
1
Wl of 2 Holgud =g x4 e |2y =%
d mm) CRLEREE RS
e

SEUE T D B C r S S S, G (kof) | (kaf) | (kaf)
UC 201 1 0.21
201-8 1/2 0.21
oo | | 1| 18504 | 1.2205 | 0.6299 | 0.0397 | 0.5000 | 0.7205 | 0.1969 | W6 x 0.75 | o0 | oo | 019
202 . 47 31.0 16 1.0 12.7 18.3 5 114-28UNF 919
204-12 3/4 0.16
204 20 0.16
UC 20514 | s 0.23
205-15 | 1o 2.0472 | 1.3425 | 0.6693 | 0.0591 | 0.5630 | 0.7795 | 0.2165 | M6 x 0.75 0.21
205 25 52 34.1 17 1.5 14.3 19.8 5.5 1/4-28UNF | 1400 790 | 0.20
20516 | 1 0.20
uc 282'18 Tue g0 | 24409 | 1.5000 | 0.7480 | 0.0591 | 0.6260 | 0.8740 | 0.2362 | N6 x 0.75 | Lo | oo 83‘2‘
200 19 |1 62 381 19 1.5 159 | 2.2 6 1/4~28UNF 0%
UC 20720 | 1o 0.54
gg;g; 1153’/*; 2.8346 | 1.6890 | 0.7874 | 0.0787 | 0.6890 | 1.0000 | 0.2559 | W8 x 1.0 | .0 | oo 8 : i’;
2 55 72 429 20 2.0 175 | 25.4 6.5 | sie-24UNF 0.8
20723 | 1116 0.45
uc 28323?, 119‘/; 3.1496 | 1.9370 | 0.8268 | 0.0787 | 0.7480 | 1.1890 | 0.3150 | W8 x 1.0 | o | L oo 822
208 4 80 49.2 21 2.0 19.0 30.2 8 5/16-24UNF 5.0
UC 20926 | Tors 0.78
20927 | 11116 8.3465 | 1.9370 | 0.8661 | 0.0787 | 0.7480 | 1.1890 | 0.3150 | W8 x 1.0 | sy | 2oao | 074
20928 | 1o 85 49.2 22 2.0 19.0 30.2 8 5/16-24UNF 0.70
209 45 0.68
uUC 210-30 1778 0.87
21031 | 11516 3.5433 | 2.0315 | 0.9055 | 0.0787 | 0.7480 | 1.2835 | 0.3543 | W8 x 1.0 | waeig | ogop | 0:82
210 50 90 51.6 23 2.0 9.0 | 32.6 9 5/16-24UNF 0.80

21032 | 2
uca2i132 | 2 726
211-34 | 21 3.9370 | 2.1890 | 0.9843 | 0.0984 | 0.8740 | 1.3150 | 0.3543 | M10 x 1.25 | a0 | oug | 1.1
211 55 | 100 55.6 25 2.5 22 | 33.4 9 5/5-24UNF 111
211-35 | 2316 1.09
UC 21236 | 21 T67
212 60 | 4.3307 | 2.5630 | 1.0630 | 0.0084 | 1.0000 | 1.5630 | 0.4134 W10 x 1.25 | wopo | ggqo | 1-54
21238 | 20 110 65.1 27 2.5 254 | 39.7 10.5 | ss-24UNF 1.52
21239 | 21716 1.45
UC 21340 | 2172 77044 | 2.5630 | 1.1477 | 0.0984 | 1.0000 | 1.5630 | 0.4724 | M2 X 15 | 5700 | 2000 | 1-9%
213 65 | 120 65.1 29 2.5 254 | 39.7 12 7 /16-20UNF 1.85
UC 214-44 | 201 4.9213 | 2.9370 | 1.1417 | 0.0984 | 1.1890 | 1.7480 | 0.4724 | M12 X 1.5 | g0 | aa00 | 2-06
214 70 | 125 74.6 29 2.5 302 | 4.4 12 7/16-20UNF 2.05
UC 215 75 | 5.1181 | 3.0630 | 1.1811 | 0.0984 | 1.3110 | 1.7520 | 0.4724 | M12 x 1.5 | o7a0 | so0 | 2-21
21548 | 3 130 7.8 30 2.5 33.3 | 445 12 7/16-20UNF 2.12

55118 | 3.2520 | 1.2508 | 0.1181 | 1.3110 | 1.9410 | 0.5512 | M12 x 1.5

uc216 801 "4 82.6 32 3.0 33.3 | 49.3 14 e-20UNE | 7260 | 9300 | 2.79
UC 21752 | 31 5.9055 | 3.3740 | 1.3386 | 0.1181 | 1.3425 | 2.0315 | 0.5512 | M12 x 1.5 | gaoo | e1g0 | 3-66
217 85 | 150 85.7 34 3.0 341 51.6 14 7/16-20UNF 3.45
UC 21856 | 3112 6.0992 | 3.7795 | 1.4173 | 0.1181 | 1.5630 | 2.2165 | 0.5909 | M2 x 1.5 | o500 | 7120 | %46
218 90 | 160 96.0 36 3.0 397 | 56.3 15 7/16-20UNF 4.35

CO1



JIB

BALL BEARING UNITS

SLEE EHH

UCX

(25T, B(H)5158
B
C
- ‘ 82 2-120° G
S S1
oD - od -—+
ol | o
|
L SER P B} (in.) e =l ==
2| A . = o = o S
o e d FE2AT o R P
i
EBUE T T B C v S S G (kaf) | (kg | (kaf)
UCX 05 25 | 2.4400 | 1.5000 | 0.7480 | 0.0591 | 0.6260 | 0.8740 | 0.2362 | M6 x 0.75 | 1950 | 1130 | 0-39
0516 | 1 62 38.1 19 1.5 159 | 22.2 6.0 | 1-280NF 0.38
X8 o | 1o | 2 | 2804 | 16890 | 0.7874 | 0.0591 | 0.6860 | 1.0000 | 0.2569 W8 x 1.0 | o0 | o0 | 058
XS 72 42.9 20 1.5 175 | 25.4 6.5 | si0-24UNF 058
UC;((g;-zz Tose 45 | 31496 | 1.9370 | 0.8268 | 0.0787 | 0.7480 | 1.1890 | 0.3150 | B x 1.0 | .o | o g?g
X oa |1 80 49.2 21 2.0 19.0 | 30.2 8.0 | sie-24UNF 0.7
UCX 0824 | 112 3.3465 | 1.0370 | 0.8667 | 0.0787 | 0.7480 | 1.1890 | 03150 | B X 10 | amo0 | 2000 | 057
X 08 40 85 49.2 22 2.0 19.0 | 30.2 8.0 | sie-24UNF 0.83
o | 3.5433 | 2.0315 | 0.9055 | 0.0787 | 0.7480 | 1.2835 | 0.3543 | W8 X 1.0 | oo | papy | 9an
o 45 90 51.6 23 2.0 9.0 | 3.6 9.0 | sie-24UNF 0o
UC;((lg'm Ts/te so | 39970 | 2.1890 | 0.9843 | 0.0787 | 0.8740 | 1.3150 | 0.3643 W10 x 1.25| .00 | oo ]gg
0w | o 100 55.6 25 2.0 22 | 33.4 9.0 | se-24UNF 1o
UC))EH_% - 5 | 43307 | 2.5630 | 1.0630 | 0.0984 | 1.0000 | 1.5630 | 0.4134 |W10 x 1.25 soi0 | 3610 1?3
B 110 65.1 27 2.5 254 | 39.7 10.5 | os-24UNF e
UC);E_% - 60 | 47044 | 2.5630 | 1.1417 | 0.0984 | 1.0000 | 1.5630 | 0.4724 | W12 x 1.5 5720 | 4000 ggg
X128 | pe 120 65.1 29 2.5 25.4 | 39.7 12.0 | 71-20UNF 2.3
UCX 1340 | 21 4.9213 | 2.9370 | 1.1417 | 0.0984 | 1.1890 | 1.7480 | 0.4724 | M12 X 1.5 | ooo0 | aa00 | 2-61
X 13 65 | 125 74.6 29 2.5 302 | 4.4 12.0 | 716-20UNF 252
UCX 14-44 | 2074 5.1181 | 3.0630 | 1.1811 | 0.0084 | 1.3110 | 1.7520 | 0.4724 | W12 X 1.5 | souo | ago0 | 2-78
X 14 70 | 130 7.8 30 2.5 33.3 | 44.5 12.0 | 7116-20UNF 2.74
UCX 15 75 | 5.5116 | 3.2520 | 1.2598 | 0.0984 | 1.3110 | 1.0410 | 0.5512 | M12 x 1.5 | 7000 | e300 | 3-41
X15-48 | 3 140 82.6 32 2.5 33.3 | 49.3 14.0 | 7116-20UNF 332
5.9055 | 3.3740 | 1.3386 | 0.1181 | 1.3425 | 2.0315 | 0.5512 | M12 x 1.5
uex6 80 1 450 85.7 34 3.0 341 51.6 14.0 | sme-oouNg | 8390 | 6180 | 3.67
62092 | 3.7795 | 1.4173 | 0.1181 | 1.5630 | 2.2165 | 0.5906 | Mi2 x 1.5
uexar 8 1 Tieg 96.0 36 3.0 39.7 | 56.3 15.0 | nsooune | 9600 | 7140 1 5.05
X 1856 | 3172 6.6020 | 4.0944 | 1.5748 | 0.1181 | 1.6900 | 2.4055 | 0.6209 | W14 x 1.5
UCX 18 9 | 170 104 40 3.0 2.9 | 6.1 16| onet1guNF | 10900 | 8710 | 6.00
UCX 20 700 | 7.4803 | 4.6260 | 1.6920 | 0.1378 | 1.9370 | 2.6800 | 0.7087 | M16 x 1.5
X20-64 | 4 190 117.5 43 3.5 492 | 68.3 18 se-1gUNE | 13300 | 10500 | 8.56

co2



JIB BALL BEARING UNITS

=LIEE SHIHE

UGC3

(HEs78d, S(E)st52)

B
_C |
S2 0
) \1 == 2-120° G
r T ——
S | S
D At od
o] |
CENE i (in) 2 =|e | =
= [=] = A — S = S =)
e d FEAT o MAsE | wAeE|
.

=== T D B C r S Si S G (kaf) | (kaf) | (kaf)
UC 305 25 | 2.4409 | 1.4961 | 0.8661 | 0.0787 | 0.5006 | 0.0055 | 0.2362 | M6 x 0.75 | 5100 | 1090 | 045
305-16 | 1 62 38 2 2.0 15 23 6 14~28UNF 0.44
UC 30618 | 1 2.8346 | 1.6920 | 0.9440 | 0.0787 | 0.6693 | 1.0236 | 0.2362 | W6 x 0.5 | es0 | 1500 | 0-58
306 30 | 7 43 24 2.0 17 2% 6 14~28UNF 0.56
UC 307-20 | s 3.1496 | 1.8897 | 1.0236 | 0.0984 | 0.7480 | 1.1417 | 0.3150 | W8 x 1.0 0.77
307-22 | e 80 48 2% 2.5 19 29 8 se-2UNF | 9380 | 1920 | 0.7
307 35 i / 0.71
UC 30824 | 11 3.5433 | 2.0472 | 1.1024 | 0.0084 | 0.7480 | 1.2902 | 03937 | W0 X 1.5 | a070 | 2300 | 1.0
308 20 | 9 52 28 25 19 33 10 3/5-24UNF 1.00
UC 30928 | Tor 3.9870 | 2.2441 | 1.1811 | 0.0084 | 0.8661 | 1.3780 | 0.3937 | W10 X 1.5 | 1s00 | 2000 | 1.2
309 45 | 100 57 30 25 20 35 10 3/5-24UNF 133
UC 31031 | T 4.3307 | 2.4015 | 1.2506 | 0.1181 | 0.8661 | 1.5354 | 0.4724 | W2 x 1.5 | w00 | 320 | 1.72
310 5 | 110 61 3 3.0 22 39 12 7116-20UNE 169
UC31132 | 2 4.7244 | 2.5084 | 1.338 | 0.1181 | 0.9842 | 1.6142 | 0.472 | W12 x 1.5 | 210 | aago | 2-08
311 55 | 120 66 34 3.0 25 41 12 116-20UNF 1.90

51181 | 2.7953 | 1.4173 | 0.1378 | 1.0236 | 1.7717 | 0.4724 | W2 x 1.5
ucs2 601 a0 71 36 35 2% 45 1 e-o0F | 8180 | 9200 | 2.60
UC 31340 | 2172 5.5116 | 2.0528 | 1.4961 | 0.1878 | 1.1811 | 1.7717 | 0.4724 | W2 x 1.5 | o0 | soso | 3.2
313 65 | 140 75 38 35 30 45 1 7 116-20UNE 316
UC 31444 | 202 5.9055 | 3.0700 | 1.5748 | 0.1878 | 1.29092 | 1.7717 | 0.4724 | M2 x 15 | 10000 | e300 | 391
314 70 | 50 78 40 3.5 33 45 12 7116-20UNF 390
UC 315 75 | 6.2992 | 3.2263 | 1.6535 | 0.1378 | 1.2598 | 1.9685 | 0.6512 | W14 x 1.5 | oo | 0| 4.70
315-48 | 3 160 82 42 35 3 50 14 o/15-18UNF 4 61

66929 | 3.3858 | 1.7323 | 0.1378 | 1.3386 | 2.0472 | 0.5512 | W14 x 1.5
ucsie 8 | 470 86 44 3.5 34 52 12 | oneigunE | 2300 | 8640 | 5.60

7.0866 | 3.7795 | 1.8110 | 0.1575 | 1.5748 | 2.2047 | 0.6299 | Mi6 x 1.5
uc 317 8 1 g 9% 46 4.0 40 56 16 ss-iguNE | 19900 | 9650 ] 6.90
UC 31856 | 312 7.4303 | 3.7795 | 1.8898 | 0.1675 | 1.5748 | 2.2047 | 0.6299 | W16 x 1.5 | 1300 | 10700 | 8-03
318 9 | 190 9% 48 4.0 40 56 16 516~ 18UNF 787

78740 | 4.0551 | 1.9685 | 0.1575 | 1.6142 | 2.4400 | 0.7087 | W16 x 1.5
uc319 91 o0 103 50 4.0 41 62 18 se-iguNF | 19900 | 11800 | 8.91
UC 320 100 | 8.4646 | 4.2519 | 2.2160 | 0.15/5 | 1.6535 | 2.5984 | 0.7874 | W18 x 1.5 | 17000 | 14100 | 11.2
320-64 | 4 215 108 54 4.0 4 66 20 /6~ 18UNF 110

88583 | 4.4004 | 2.2047 | 0.1575 | 1.7322 | 2.6772 | 0.7874 | W18 x 1.5
ucs21 105 | "5 112 56 4.0 44 68 20 se-18UNF | 18400 | 15800 ] 12.7

54486 | 4.6063 | 23622 | 0.1575 | 1.8110 | 2.7953 | 0.7674 | Wi x 1.5
ucs22 110 | o0 117 60 4.0 46 71 20 wo-18UNF | 20500 | 17900 ] 151

10,2362 | 4.9606 | 2.5197 | 0.1576 | 2.0079 | 2.9527 | 0.7874 | W8 x 1.5
uc 324 120 | 960 126 64 4.0 51 75 20 we-18UNE | 20700 | 18500 | 19.0

T7.0236 | 5.3150 | 2.6772 | 0.1960 | 2.1260 | 3.1890 | 0.7874 | W20 x 1.5
uc 326 1301 280 135 68 5.0 54 81 20 gu-16UNF_ | 22900 | 21400 ] 23.6

178110 | 5.7086 | 2.8346 | 0.1969 | 2.3228 | 3.3858 | 0.7874 | W20 x 1.5
uc328 140|500 145 72 5.0 59 86 20 ya1GUNE_| 20800 | 24600 ] 29.4

Co3



BALL BEARING UNITS

.
t—- od

ol of 2 012 4 2 A% g 7le 5 7l &2
=)= - ML= >

saHe gi'lrn]“; b B C o(;gczf)s g(jjgc}gg (kgf)
UK 205 0. 52’243 2. 2‘2‘72 0. 2355 -??93 1400 790 0.16
UK 206 1 -;g“ 2. 3‘2‘09 ! -(2’236 -17380 1950 1130 0.25
UK 207 1 -2280 2. 3246 1 -2330 -;g” 2570 1540 0.37
UK 208 1 -%48 3. ;3396 L -12;” 7 -8;68 2910 1790 0.47
UK 209 ! -Z? 7 3. 3265 1. ;g“ : 3261 3200 2040 0.52
UK 210 1 -2885 3. 8333 ! -?505 -3255 3510 2320 0.59
UK 211 2. :3254 3. 190%70 ! -5292 -2243 4330 2940 0.80
UK 212 2. 2322 4 -131%07 ! -‘3%73 -2330 5240 3610 1.02
UK 213 2. 2291 4-1722044 1. 3361 -12;” 7 5720 4000 1.34
UK 215 2. 3228 5 -1131081 ! -%42 - ;g“ 6740 4820 1.50
UK 216 8. ;3396 5. 151110‘8 ! -1323 -352’98 7260 5300 1.96
UK 217 3. 2265 5. 1%0055 ! -%1 0 -2386 8390 6180 2.42
UK 218 3. 36‘33 6. 1%%92 L -%91 .ggs 9600 7140 2.90

C04



C05

JIB

BALL BEARING UNITS

SLEE EHH

UKX

(BlolHTEd, &

+)5t5 8

)

T
® 10 @|d
= SERE =9 2 M = =k B
(mm)

UK X 05 0-2243 2-;“2‘09 -%36 0-17380 1950 1130 0.27
UK X 06 1 -;g“ 2. 3346 -2330 0. ;?)24 2570 1540 0.43
UK X 07 18780 3. 1496 et 0.8268 2910 1790 0.53
UK X 08 ! -%48 3. gg% ';811 0-2261 3200 2040 0.58
UK X 09 ! -Z? 7 3. 8333 -%%05 0. gg55 3510 2320 0.67
UK X 10 ! -2885 3. 190%70 -3292 0. 2243 4330 2940 0.89
UK X 11 2. 1054 43307 P 19030 5240 3610 1.15
UK X 12 2. 2822 4. 172?044 : 3361 ! -1231 7 5720 4000 1.45
UK X 13 2. 2291 4-1922513 -%48 ! -12;”7 6220 4400 1.62
UK X 15 2. 3228 5. 15:11018 -2323 ! -3298 7260 5300 2.10
UK X 16 3-]36‘96 5 -195%55 -%10 ! -3386 8390 6180 2.64
UK X 17 3. 3265 6 -126%92 -%91 ! .431%73 9600 7140 3.25
UK X 18 3. 3333 6 -167%29 -2385 ! -%48 10900 8170 3.80
UK X 20 3. 1%3070 7. 1‘;%03 -;iﬁo 1 -3229 13300 10500 5.36




JIB

BALL BEARING UNITS

OL|EE EH.”O.laI

UK3

(HolHTHEY, &(F)5t58)
B
n
T
D Tt od

M of 2 Hl0f2ILh 2 x24I e = |2 A By
i = - MAHAS= = >
zEe ) D B c o e (kaf)
UK 305 0. 2*5343 2. 242109 ! -(2’?30 0. 3361 2100 1090 0.40
UK 306 1 -;g“ 28340 T ;g“ 0949 2660 1500 0.47
UK 307 1 -2280 3. 336‘96 1 -gggz 1 -%36 3330 1920 0.60
UK 308 1 -%48 3. 3333 ! -%80 ! -12%24 4070 2390 0.80
UK 309 1T 3.9370 1406 Tl 1890 I 1 08
UK 310 1 -2885 4. 13?870 1 -%48 1 -2298 6200 3820 1.38
UK 311 2. 1654 .72 16028 13386 160 2480 .
UK 312 2. 3822 5 -1131081 ! -%1 0 1 .gys 8180 5200 2.06
UK 313 2 -2291 5 -1%1 8 1 -3298 T g‘g‘“ 9270 5980 2.7
UK 315 2. 3228 6 -1269092 2. ;260 10535 11300 7690 3.80
UK 316 8. ;3396 6 -1%9029 2-52);“” 1 -2323 12300 8640 4.39
UK 317 3.3465 7.0066 2.322 18110 13300 0650 5 %
UK 318 8. 36‘33 7 -1‘:38003 2. 2203 1 -2398 14300 10700 6.20
UK 319 8. ggoz 7 -2807040 2. 2284 1 -2885 15300 11800 7.31
UK 320 3 -1903070 8 -2416546 2. 5859 2. 23260 17300 14100 8.70
UK 322 4 -1313007 9 -2‘%38 3. ;396 2. 2322 20500 17900 12.2
UK 324 4. 1722044 10 23262 3. 2258 2. 2197 20700 18500 16.1
UK 326 5 -1131081 ”-23(2)36 3. 8520 2. 2272 22900 21400 18.8
UK 328 5 ﬂ& 8 “égy 0 3. 2283 28340 25300 24600 23.9

C06



JIB BALL BEARING UNITS

=LIEE =H0E

UR

(HEodd, d(E)sts8)

S

B
C
S2 .
) — 2-120° G
' ]
S | S
oD 11— -—  od
o] |
Ho{&L A _ (in.) 2 z|72Hd =z
s d e om ysiz 5 dss|
=R T [ D B C S S: S: G (kaf) | (kaf) | (kaf)
UR 201 2
201-8 1/2
18504 | 1.2205 | 0.6209 | 0.5000 | 0.7205 | 0.1969 | W6 x 0.75
202 15 47 31.0 16 12.7 18.3 5.0 va-28UNF | 1280 | 670 0.18
202-10 5/8
203 17
UR 20412 | o 18504 | 1.2205 | 0.6209 | 0.5000 | 0.7205 | 0.19%9 | W6 x0.75 | 1080 | s70 | 015
204 20 47 31.0 16 12.7 18.3 5.0 14~28UNF :
UR 205-14 7/8
205-15 | 1516 2.0472 | 1.3425 | 0.6693 | 0.5630 | 0.7795 | 0.2165 | M6 x 0.75 | 1000 | 700 | 0.1
205 25 52 3.1 17 14.3 19.8 5.5 14~28UNF :
205-16 | 1
UR 282‘18 Tus s | 24409 | 1.5000 | 0.7480 | o0.6260 | 08740 | 02862 | W6 x 075 | Lo | o
62 38.1 19 15.9 2.2 6.0 14~28UNF -
206-19 | 13/16
UR 20720 | 112
207-22 | 19 28346 | 1.6890 | 0.7874 | 0.6890 | 1.0000 | 0.2559 | W8 x 1.0
207 35 7 2.9 20 17.5 25.4 6.5 on-2dUNF | 2270 | 15401 0.49
207-23 | 17
UR 20824 | 1172 31496 | 1.9370 | 08266 | 07480 | 1.1890 | 0.3150 | W8 x 1.0
208 40 80 49.2 21 19.0 30.2 8.0 sus-2dUNF | 2910 | 1790 1 0.65
UR20926 | 1o
209-27 |11 33465 | 1.9370 | o0.8661 | 0.7480 | 1.18%0 | 0.3150 | M8 x 1.0
209-28 | a4 85 492 22 19.0 30.2 8.0 sns-2dUNF | 9200 | 2040 1 0.69
209 45
UR 21030 | 17
210-31 | 111 35433 | 2.0315 | 0.9055 | 0.7480 | 1.2835 | 0.3543 | M8 x 1.0
210 50 90 51.6 23 19.0 32.6 9.0 on-2aUNF | 3010 | 2320 1 0.81
21032 | 2
UR2Ti32 | 2
211-34 | 2us 39370 | 2.1890 | 0.9843 | 0.8740 | 1.3150 | 0.3543 | W10 x 1.25
211 55 100 55.6 25 22.2 33.4 9.0 se-2dUNF | 4380 | 2940 1 112
211-35 | 23/16
UR 21236 | 2s
212 60 | 43307 | 2.5630 | 1.0630 | 1.0000 | 1.5630 | 0.4134 | W10 x 1.25
212-38 | 20 110 65.1 27 25.4 39.7 10.5 se-2dUNE | 9240 | 3610 1 1.52
212-39 | 27716
UR 27340 | 2172 A 7044 | 25630 | 19477 | 7.0000 | 15630 | 04724 | W2 x 15
213 65 120 65.1 29 25.4 39.7 12.0 e-20UNE | 2720 | 4000 | 1.85
UR 21444 | 291 290213 | 2.9370 | 1417 | 1.1890 | 71.7480 | 0.4724 | Wi2 x 1.5
214 70 125 74.6 29 30.2 44.4 12.0 1-200NF | 8220 | 4400 ] 2.05
UR 215 75 | 5.1181 | 3.0630 | 1.1811 | 1.3110 | 1.7520 | 0.4724 | M2 x 1.5
21548 | 3 130 77.8 30 33.3 445 12.0 e-20UNE | 6740 | 4820 | 2.12

co7



JIB

BALL BEARING UNITS

=LIEE =H0E

SER

(AETHE, F (#1515 8) B
C
h, f a 2-120° G
| =
S St ‘
oD . -— od oD2
W o| |
Hloj 2 Z _ (in.) e |72y | =
=) =] A . = o = S S
o g A% Fea s R PEEE Y B
"
FETE @ @[ b [ o [ B cC s s [ s [n f a G (kof) | (kgf) | (kaf)
SER 201 P
201-8 1/2
202 15 11 8504 |2.0669|1.2205|0.6220|0.4055|0.8150{0.1969|0.1378 | 0.0421{0.0937 | W6 x 0.75 . o
20210 ol | 47 | 52.5| 1.0 | 15.8 | 10.3 | 207 | 5.0 | 8.5 | 1.07 | 2.38 | we28UNF | 1280 | 670 0.
SER 204-12 | 414
204 20
SER 20514 | 7%
205-15 | 15716 2.0472|2.2717(1.3425(0.7500 |0.5157 |0.8268 | 0. 2165 0.1969 [0.0421(0.0987 [ W6 x 0.75 | 1u00 | 760 |0 07
205 25 | 52 | 57.7 | 34.1 |19.05| 131 | 21 | 5.5 | 5.0 | 1.07 | 2.38 | 114-28UNF :
205-16 | 1
SERggg-m Tus 50 |2-4409]2.6575 |1.5000|0.8740|0.6260 | 0.8740 |0.2362{0.2165(0.0650 0.1252 | W6 x 0.75 | o | 11a0 | 30
62 | 675 | 381|222 | 159 | 22.2 | 5.5 | 5.5 | 1.65 | 3.18 | 1/4-28UNF -
206-19 | 1a/16
SER 207-20 | 114
207-22 | 1958 2.8346(3.0866| 1.6890{0.9370|0.6890 | 1.0000 [0.2559 [0.2165 [0.0650 [0.1252 [ W6 x 0.75 | oezo | 1240 |0 63
207 35| 72 | 784|429 | 238|175 | 254 | 6.5 | 55 | 1.65 | 3.18 | 114-28UNF :
207-23 | 17716
SER 208-24 | 112 3.14963.40161.9370| 1.0945|0.74801.18900.3150{ 0.2362]0.0650 [0.1252 W8 x 1.0 | 010 | 1700 | 0.81
208 40 | 80 | 86.4 | 492|278 | 19.0 302 8.0 | 6.0 | 1.65 | 3.18 | sie-24UNF :
SER 20926 | 1o
209-27 | 11116 3.3465(3.5984( 1.9370( 1.0945|0.7480 | 1.1890 |0.31500.2362 0.0650 0. 1252 M8 x 1.0 | aoo0 | 20a0 | 0.90
209-28 | 1o 85 | 91.4 | 492|278 | 19.0 | 302 | 8.0 | 6.0 | 1.65 | 3.18 | 516-24UNF :
209 45
SER210-30 | T7s
210-31 115116 3.5433(3.7913(2.0315(1.1220|0.7480 | 1.2835|0.35430.2953[0.0949 [0.1252 | M8 x 1.0 | acio | naoo | 08
210 50| 9 |96.3|51.6|285|19.0] 36| 9.0 | 7.5 | 2.41 | 3.18 | sie-24UNF :
21032 | 2
SERSH'” 2 65 |3-9970(4.1850(2.1890| 1.1850{0.8740  1.3150[0.3543(0.2953|0.0949 0.1252 W10 x 1.25 oo | oouo | 4 4y
100 |106.3| 55.6 | 30.1 | 22.2 | 33.4 | 9.0 | 7.5 | 2.41 | 3.18 | sie-24UNF :
211-35 | 23/16
SER;‘S'% 214 g0 |4-3307|4.5827|2.56301.2480|1.0000 | 1.5630 [0.4134|0.2953|0.0049 | 0.1251[M10 x 1.25| ) | oo | g
o230 | o 10 | 116.4 | 65.1 | 31.7 | 25.4 | 39.7 | 10.5 | 7.5 | 2.41 | 3.18 | sis-24UNF :

Co8



JIB BALL BEARING UNITS

SLEE EHH

HC2 CHC2

OJE_—er 5/ 2EQ 7OSO’ §<« 3
(HAA A2 kA

C 11 B2
| So  2-120° G

oD <1>|d
|
HC

Hloj2f 4 (in.) e x| =2

= =] - . = o S
e d TEAT wm AeE|

e

=== T | D & B: C v B S Bs (kgf) | (kaf)
HC 201 P 0.29
CHC 201-8 172 0.29
202 15 0.27
o 10 1.8504 | 1.3110 | 1.7204 | 0.6299 | 0.0397 | 1.3465 | 0.6732 | 0.5315 [ 0.1890 [ W6 x 0.75 | o | (oo | 057

101 5 47 | 333 | 437 | 16 | 1.0 | 342 | 171 | 135 | 48 | 1e-280NF :
203 17 0.25
204-12| /s 0.23
204 20 0.22
HC 20514 o 0.29
CHC 205-15 | 15716 2.0472 | 1.5000 | 1.7480 | 0.6693 | 0.0591 | 1.3741 | 0.6890 | 0.5315 | 0.1890 | M6 x 0.75 0.27
205 25 | 52 38.1 | 44.4 17 1.5 | 34.9 | 17.5 | 13.5 | 4.8 | 1.-28uNF | 1400 790 [ o0.25
205-16| 1 0.25
UC 206-18| 118 0.43
CHC 206 30 | 2.4409 | 1.7520 | 1.9055 [ 0.7480 | 0.0591 | 1.4370 | 0.7204 [ 0.6260 [ 0.2362 | M8 x 1 | 4950 | 1130 | 0-41
206-19 | 1a/16 62 | 445 | 484 | 19 | 15 | 365 | 183 | 159 | 6.0 |sns-240NF 0.41
206-20 | 114 0.38
HC 20720 | T1a 0.68
CHC207-22 | 1o | 35 |2.8346|2.1890 | 2.0157 | 0.7874 | 0.0787 | 1.4804 | 0.7402 | 0.6890 [0.2677 | M8 x 1 | ,er0 | 4540 | 0.1
207 72 | 556 | 511 | 20 | 2.0 | 37.6 | 18.8 | 17.5 | 6.8 | sne-24UNF 0.61
207-23 | 1716 0.58
230208'24 Tz 3.1496 [ 2.3740 | , . |0.8268 | 0.0787 | 1.6851 [ 0.8425 | 0.7205 [ 0.2677 | M8 x 1 | oo | oo 8?3
208 w | 80 | 608 [Z22051 ot ol | 428 | 214 | 18.3 | 6.8 | sne-2dUNF 078
HC 209-26 | 1s/8 0.96
CHC 209-27 [ 11116 3.3465 | 2.5000 | 2.2205 | 0.8661(0.0787 | 1.6851|0.8425 [0.7205 | 0.2677 | M8 x 1 | aon0 | 040 | 091
209-28 | 194 85 | 635 | 563 | 22 | 2.0 | 428 | 21.4 | 183 | 6.8 |sns-240NF 0.87
209 45 0.85
3303}8‘31 Tis/te 5o | 3-5433|2.7520 | 2.4685 | 0.9055 | 0.0787 [ 1.9570 | 0.9685 [0.7205 | 0.2677 | M8 x 1 | o0 | oo | 1.04
P 90 | 699 | 627 | 23 | 2.0 | 492 | 246 | 183 | 6.8 | sns-24UNF 1.01
ggcgu‘” 2 55 |3-9370[3.0000 | 2.8110|0.9843 | 0.0984 | 2.1851 | 1.0945 | 0.8189 | 0.3150 [ W12 x 1.5| o | 50,0 1-23

100 | 762 | 714 | 25 | 25 | 555 | 27.8 | 20.7 | 8.0 | 116-20UNF :
211-35| 23/16 1.36
gﬁcgg'% 21s 60 | 4-:3307|3.3150 | 3.0630 | 1.0630 | 0.0984 | 2.4370 | 1.2204  0.8740 | 0.3150 (W12 x 1.5| 0 | oo fg?
e 20| 20 10 | 842 | 778 | 27 | 25 | 619 | 31 | 223 | 8.0 | 16-20UNF o

C09



JIB

BALL BEARING UNITS

SLEE EHH

SA2 CSA2

(ETHY / AEHY H(E)5E
(AN ZrarA) A WAl B1
C 11 B2
S?  1-120° G
1
T i
| |
B
S |
oD <D|d - N\ od1
SA CSA
W of 2 o2& = x| % (in.) g s |72 d| B
| 4° d N (mm) Y31z | HAsE
i
e T [ | D & B C B S B: S G (kaf) | (kaof) | (kaf)
SA 201 12
CSASS;‘B | s | 15748 | 1.1260 | 1.1260 | 0.5119 | 0.7520 | 0.2559 | 0.5315 | 0.1890 | M6 x 0.75 | . P
4 | 2856 | 2856 | 13 191 | 6.5 | 135 | 4.8 | 1u-280NF :
202-10 5/8
203 17
SA 20412 | o= 1.8504 | 1.2598 | 1.2205 | 0.5906 | 0.8425 | 0.2756 | 0.5315 | 0.1890 | W6 X 0.75 | 1080 | 670 | o015
CSA 204 20 | 47 | 333 | 31 15 | 215 | 7.5 | 135 | 4.8 | 1:-280NF :
SA 20514 | s
2.0472 | 1.5000 | 1.2205 | 0.5906 | 0.8465 | 0.2953 | 0.5315 | 0.1890 | W6 x 0.75
CSA 205 25| 5 38.1 31 15 215 | 7.5 | 135 | 4.8 | ia-28uNF | 1400 | 790 | 0.22
205-16 | 1
SA 20618 | Tvs
CSA 206 30 | 2.4409 | 1.7480 | 1.4055 | 0.7087 | 0.9370 | 0.3150 | 0.6890 | 0.2362 | M8 x 1 1050 | 1130 | o031
206-19 | 1ar16 62 | 445 | 35.7 | 18 | 238 9 15.9 | 6.0 | s/e-24UNF :
206-20 | 11/a
SA 207-20 | 114
CSA207-22 | 1ass 2.8346 | 2.1890 | 1.5314 | 0.7481 | 1.0000 | 0.3346 | 0.6890 | 0.2677 | M8 x 1 o570 | 1510 | 0.1
207 35 | 72 | 556 | 389 | 19 | 254 | 95 | 175 | 6.8 | sie-24UNF :
207-23 | 17/16
SA 20824 | 11 3.1496 | 2.3740 | 1.7205 | 0.8662 | 1.1890 | 0.3543 | 0.7205 | 0.2677 | W8 x 1 w010 | 1790 | o0.66
CSA 208 4 | 80 | 603 | 437 | 22 | 302 | 11 18.3 | 6.8 | s/6-24UNF :
SA 20026 | 1ors
CSA209-27 | 111716 3.3465 | 2.5000 | 1.7205 | 0.8662 | 1.1890 | 0.3740 | 0.7205 | 0.2677 | M8 x 1 2000 | 2010 | 0.67
209-28 | 13 85 | 635 | 43.7 | 22 | 302 | 11 18.3 | 6.8 | s/6-24UNF :
209 45
SA 21030 | Tvs
CSA210-31 | T1s/1s 3.5433 | 2.7480 | 1.7205 | 0.8662 | 1.1890 | 0.3937 | 0.7205 | 0.2677 | M8 x 1 w510 | 2300 | 0.77
210 50 | 90 | 699 | 437 | 22 | 302 | 11 18.3 | 6.8 | s/6-24UNF :
21032 | 2
SA 21132 | 2
3.9370 | 3.0000 | 1.9055 | 0.9449 | 1.2795 | 0.4134 | 0.8189 | 0.3150 | W12 x 1.5
CSASH‘“ - 5 1 00 | 762 | 484 | 24 | 325 | 12 | 207 | 8.0 | re-counF | 4330 | 2940 | 1.04
ggA221122'36 2ia g0 | 4.3307 | 3.3110 | 2.0906 | 1.0630 | 1.4646 | 0.4331 [ 0.8740 | 0.3150 | W12 x 1.5 | 0 | o0 |,
e | o 10 | 842 | 831 | 27 | 372 | 135 | 22.3 | 8.0 | r6-20UNF :

C10



JIB BALL BEARING UNITS

SLEE EHH

SB2 CSB2

OJE_—er 5/ 2EQ 7OSO’ §<« StE
B
2-120° G
oD <1>|d
~_ 1 “
SB
LNER P B (in) 2|2 =z
2| A B = o = o S
ol ?140 : FeA s EE S PEE] By
i
FEEE T D B C S S S G (kaf) | (kof) | (kaf)
SB 201 2
CSng;'S v | 15748 | o.8sss | 0.5118 | 0.2559 | 0.6209 0.1890 M6 x 0.75 960 w0 | o010
40 2.5 13 6.5 16.0 4.8 14~28UNF :
202-10
203 ss | 17
SB 20472 | on T 8504 | 1.0080 | 05906 | 0.2953 | 0.7087 | 0.1890 X075 | 120 | 670 | 015
CSB 204 20 47 25.5 15 75 18.0 4.8 1/4~28UNF :
SB 205-14 7/8
2.0472 | 1.0630 | 0.5906 | 0.2953 | 0.7677 | 0.2165 M6 x 0.75
CSB 205 25 52 27 15 7.5 19.5 5.5 1 14-28UNF 1400 | 790 | 0.16
20516 | 1
SB 206-18 | 18
24409 | 1.1811 | 0.7087 | 0.3543 | 0.8268 | 0.2362 M6 x 0.75
CSB 206 30 P %0 I 5 o A SO 1950 | 1130 | 0.28
206-19 | 1316
SB 20720 | 114
CSB 207-22 | 1as 28346 | 1.3780 | 0.7480 | 0.3740 | 1.0039 | 0.2560 M8 x 1.0
207 35 72 35 19 9.5 25.5 6.5 5116-24UNF 2570 | 1540 1 0.8
207-23 | 1716
SB 20824 | 11 3149 | 15748 | 0.7087 | 0.4331 | 1.1417 | 0.3150 V8 x 1.0
CSB 208 40 80 40 22 11 29 8 /16~ 24UNF 2910 | 1790 | 0.55
SB_ 20926 | 1o
CSB 209-27 | 11116 3.3465 | 1.6220 | 0.8661 | 0.4331 | 1.180 | 0.3150 M8 x 1.0
209-28 | 1o/s 85 M2 22 > 30.2 8 5/16-24UNF 3200 | 2040 | 0.58
209 45
SB 21030 | 17s
CSB 210-31 | 11516 3.5433 | 1.7165 | 0.8661 | 0.4331 | 1.2835 | 0.3543 M8 x 1.0
210 50 9 43.6 2 11 32.6 9 5115~ 24UNF 310 | 2320 | 0.72
21032 | 2
SB 21132 | 2
CSA 211 55 | 3.9370 | 1.7874 | 0.9449 | 0.4724 | 1.3150 | 0.3543 | W10 x 1.25
211-34 | 218 100 45.4 24 12 33.4 9 316-2AUNF 4330 | 2940 1 0.9
211-35 | 23/16
SB 212-36 | 21/4
CSB 212 60 | 4.3307 | 2.0045 | 1.0630 | 0.5315 | 1.5630 | 0.4134 | Wi0 x 1.25
21238 | 20 110 53.2 o7 13.5 39.7 10.5 516-24UNF 5240 | 3610 | 1.26
212-39 | 27/16

C11



JIB

BALL BEARING UNITS

=LIEE =H0E

SC

(Hs78d, Z(&E)st52)

od

doly | Mol 72 A & e Qe =¥
LAtk o D C (kaf) (kgf) (kgf)
SC 200 0. ?837 1 -;g“ 0. 35’43 510 240 0.030
SC 201 0. ?;24 1 -352’98 0. ?837 690 300 0.035
SC 202 0. ??’06 1 -3280 0. ;‘?31 760 370 0.040
SC 203 0. ?393 ! -%48 0. ;‘;24 960 480 0.074
SC 204 0.;874 1.3&;04 0.15312 1280 670 0.116
SC 205 0. 3243 2. 2‘2‘72 0. ?206 1400 790 0.180
SC 206 1-;3“ 2-2‘2109 0-?299 1950 1130 0.219
SC 207 1 _ggso 2. *;346 0. ??93 2570 1540 0.327
SC 208 1 -%48 3. 2;3% 0. 17387 2910 1790 0.422
SC 209 1 'Z? 7 3. 3‘5‘65 0. 3380 3200 2040 0.468
SC 210 1 -2885 3-3333 0-;874 3510 2320 0.495
SC 211 2. 2’254 3. 190%70 0. %68 4330 2940 0.678
SC 212 2. 2822 4 -131%07 0. 2361 5240 3610 0.911

c12



JIB BALL BEARING UNITS

OL|EE EH.”O.laI

USA

(HETYY, H ()55 8)
#4))

(Mﬂa}zla B1
C ., B2
So| 1-120° G
n
|
T od
4ol g | HolgyY =9 % éllié lef—fgg =2
2ydz ol c D B S Bi d S G (kaf) kaf) | (ko)
USA 08 0.8760 | 0.2755 | 0.8661 | 0.3740 | 01378 | 0.5906 | 0.8700 | 07167 |~ | e 136 0.020
USA 000 0.3957 | 0.3160 [ 7.02%5 [ 0.4337 [ 0.7575 | 0.6800 [0.8603 [0.1878 |~~~ T g5 200 0029
USA 001 04728 [0.3160 | 11024 | 04331 [0.7575 [ 06800 [ 07480 (01078 |~~~ T oa 0033
USA 002 0.?206 0.39543 1.%298 0.?;24 0;7572 01;223 0.;3(2361 0.31.3578 I 570 290 0.043
USA 003 0-8603 | 0.3957 | 7.3780 | 0.5975 [ 0.1963 [0.B0TT [ 09883 [0.1078 |~~~ T g - 0 058
USA 004 07672 | 0.472% | 76535 | 0.04% [0.2002 | 0.9646 | T.T81T [ 01575 |~ . o 0,09
USA 005 0-9843 | 0.472¢ | 78504 | 0.6890 [0.2062 | 10039 | 14173 [0.1575 |~~~ " [ q0gq o 0 128
USA 006 1.:13311 0.?:1318 2.15254 01g223 0.62.5559 122423 1.(‘31235 0.1‘;575 V5 X 0.8 1350 840 0.177

C13



JIB

BALL BEARING UNITS

SLEE EHH

USB

(HETHY, H(E)5I=

2)

2-120° G
oD -— <1>|d
_—
_ (in.) =

| 2| = Q x # e s 723 Bl

Hoe e TEAT yAslE | s |

SEHS m; C D B S S S G (kgf) (kgf) (ka)
0.3150 2756 | 0.8661 | 0.4921 | 0.1575 | 0.3346 | 0.0984

USB 08 8 7 22 2.5 4 8.5 25 |wesxoa3s| 250 136 | 0.015
03937 3150 | 1.0236 | 0.5906 | 0.1969 | 0.3937 | 0.1181

USB 000 10 8 26 15 5 10 3 M3 x 035 | O 200 ] 0.024
0 4724 3150 | 71024 | 05906 | 01969 | 03937 | 01761

USB 001 1 8 28 15 5 10 3 M3 x 035 | 5% 245 ] 0.08
05906 3543 | 1.2508 | 0.649 | 0.2165 | 0.4331 | 0.1378

USB 002 15 9 32 16.5 5.5 11 3.5 M4 X 0.5 570 290 ] 0.039
06693 3937 | 1.3780 | 0.6690 | 0.2362 | 0.4528 | 0.1378

USB 003 17 10 35 17.5 6 1.5 3.5 M4 x 0.5 610 3% | 0.050
07674 4704 | 1.653 | 0.8268 | 0.2756 | 0.5512 | 0.1575

USB 004 20 12 2 21 7 14 4 W5 x 0.5 955 515 | 0.084
09843 4704 | 1.8504 | 0.8661 | 0.2756 | 0.5006 | 0.1771

USB 005 25 12 47 2 7 15 45 ws x 0.5 | 1090 R R
7877 5176 | 21654 | 0.9646 | 0.2953 | 0.6693 | 0.1969

USB 006 30 13 55 24 5 75 17 5 s x 05 | 1390 840 ] 0.153

C14



JIB BALL BEARING UNITS

OL|EE EH.”O.laI

USC

OJE EH%:,I’7=I §<« |-

oD <1>|d

H oo & TISEE oA+ e = 218 s

sHHS alin) yAHoE NS

=eE (mm) c D (kaf) (kaf) (ko)

usc 08 03150 0.2756 0.5%01 260 136 0.012
0.3937 0.3150 1,026

USC 000 5 A 02 465 200 0.019
0.4724 0.3150 1.1024

USC 001 4 A e 520 245 0.021

USC 002 0.5906 0.3548 1259 570 290 0.030
0.6693 0.3937 1.3780

USC 003 6 3 3 610 335 0.039
0.7874 0.4724 1.6535

USC 004 8 i e 955 515 0.066
0.9843 0.4724 1.8504

USC 005 o “ 5 1030 595 0.078
11811 0.5118 21654

USC 006 18 o i 1350 840 0.114

C15



JIB

BALL BEARING UNITS

HEH

H2300, HS2300, HE2300

B1

.
TAPRE 1/12

B I ——— - odt od2
L e
se2lole Y& = oA (in = x| & =
of S Fox5 M selo= | W £ | ANEua | 3
SEHS SEHS SEHS SEAHS
=sde (in.) (mm) B1 B2 dz S = = 2sE= (kgf)
HE 2305X 3/4 13/8 5/16 1172 AE 2305X AW 05X 0.085
H 2305X 20 35 8 38 A 2305% AN 05 0.095
H 2306X 25 1172 5/16 13/4 A 2306X 6X 0.13
HE 2306X 1 38 8 45 AE 2306X% AN 06 Ao 0.12
HS 2307X 1178 11116 3/8 21/16 AS 2307X AN 07X 0.19
H 2307X 30 43 9 52 A 2307% AN 07 0.17
HE 2308X 1174 11116 o/ 9050 AE 2308X 0.28
HS 2308X 1a/8 26 10 58 AS 2308X AN 08 AW 08X 0.22
H 2308X 35 A 2308X 0.22
HE 2309X 1172 Ta1e0 e %015 AE 2309X 0.32
H 2309X 40 50 11 65 A 2309% AN 09 AW 09X 0.28
HS 2309X 158 AS 2309 0.25
HE 2310X 1a/a 25/32 15/32 23/4 AE 2310X 0.37
W 10X
H 2310X 45 55 12 70 A 2310X ANT0 A 0.36
HE 2311X 178 AS 2311X 0.50
H 231X 50 2;g6 o 2‘;;‘3 A 231X AN 11 AW 11X 0.42
HS 2311X 2 AE 2311X 0.40
HE 2312X 2178 27/16 1/2 3s/32 AS 2312X 0.52
H 2312X 55 62 13 80 A 2312% AN12 AW12X 0.48
HE 2313X 21/4 20716 - 311730 AE 2313X% 0.69
H 2313X 60 25 14 85 A 2313% AN 13 AW 13X 0.56
HS 2313X 248 AS 2313X 0.55
HE 2315X 2172 27/8 9/16 327/32 AE 2315X 1.15
1 1
H 2315X 65 73 15 98 A 2315X AN15 AW15K 1.05
HE 2316X 23/ 3116 21/32 44/ AE 2316X 1.8
1 1
H 2316X 70 78 17 105 A 2316X AN 16 AW16X 1.3
H 2317X 75 37/32 11/16 11/32 A 2317X 1.45
17 17
HE 2317X 3 82 18 110 AE 2317X AN ANTX 1.35
3a3/8 11/16 A23/32
1 1 1.7
H 2318X 80 86 18 120 A 2318X AN 18 AW 18X
HE 2319X 3174 3i7/32 3/4 429/32 AE 2319X 2.15
1 1
H 2319X 85 90 19 125 A 2319X AN19 AW19K 1.95
HE 2320X 312 313/16 25/32 51/8 AE 2320X 5 2.3
H_2320X % o7 20 130 A 2300X AN 20 A 20K 2.2
H 2322X 100 44y 13/16 523/32 A 2322X 2.75
22 22
HE 2322X 4 105 21 145 AE 2322X AN Al 22X 2.55
13732 7/8 63/32
H 2324X 4, 24 AW 24X 3.2
110 112 2 155 A 2324% AN
HE 2326X 4172 43/4 20/32 61/2 AE 2326X A 4.7
N 26 AW 26X
H 2326X 115 121 23 165 A 2326X 4.6
5s/32 15/16 73132
H 2328X 2 2 AW 28X 5.5
125 131 o1 180 A 2328X AN 28

C16



JIB BALL BEARING UNITS

o= H
B+
Bz
N »
TAPRE 1/12

T - od1t »d2

e
ofEiEf selol= di =9 x4 M selole | w = | xmus =g

ds (mm)

S xS S xS SEH S SIS
SEHS ) = i 5 o SEAHS SAHS SEAHS (kgf)
HE 305X 3/4 15732 5/16 1172 AE 305X 0.08
H_ 305X 20 29 8 38 A 305X AN 05 AW 05X 0.075
H 306X 25 17732 5/16 13/4 A 306X 0.1
HE 306X 1 31 8 45 AE_306X AN 06 Al 06X 0.105
HS 307X T1/8 1as8 3/8 21/16 AS 307X 0.15
H 307X 30 35 9 52 A 307X AN-07 AW 07X 0.14
HE 308X /4 AE 308X 0.23
HS 308X a8 1‘§g‘2 b Zgg‘z AS 308X AN 08 AW 08X 0.19
H 308X 35 A 308X 0.19
HE 309X 1172 i e Dorts AE 309X 0.28
H 309X 40 9 P e A 309X AN 09 AW 09X 0.25
HS 300X 1s AS 300X 0.23
HE 310X 13/4 121/32 15/32 23/4 AE 310X 0.31
H_ 310X 45 42 12 70 A 310X AN 10 AW 10X 0.30
HE 311X 1778 125120 o D516 AS 311X 0.4
H 311X 50 5 bs 75 A 311X AN 11 AW 11X 0.35
HS 311X 2 AE 311X 0.33
HE 312X 21/8 127/32 12 3s/32 AS 312X 0.40
H 312X 55 47 13 80 A 312X AN 12 AlT2X 0.43
HE 313X 214 tsi o . AE 313X 0.56
H 313X 60 =0 1 g A 313X AN 13 AW 13X 0.46
HS 313X Qa8 AS 313X 0.45
HE 315X 21/2 25/32 9/16 327/32 AE 315X 0.89
H_315X 65 55 15 98 A 315X AN 15 AW 15X 0.83
HE 316X 23/4 25/16 21/32 Q478 AE 316X 1.05
H 316X 70 59 17 105 A 316X AN 16 AW 16X 1.05
H 317X 75 215/32 11/16 A1/32 A 317X 1.2
HE 317X 3 63 18 110 AE 317X AN AT 11
H 318X 80 2;’; ;‘é“a 412;/82 A 318X AN 18 AW 18X 1.4

c17



	UC2
	UCX
	UC3
	UK2
	UKX
	UK3
	UR2
	SER2
	HC2, CHC2
	SA2, CSA2
	SB2, CSB2
	SC2
	USA
	USB
	USC
	ADAPTER(H2300)
	ADAPTER(H300)

